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15 (a)  DR 
215 2

64 2!×     oe eg 15 4
64 2×           (= 15

32  AG) B1 1.1 Must see this expression and result 

    [1]   





          
 

 

Question Answer Mark AO Guidance 

15 (c)  
P(two 2's in nine vales of X) 

or 0.094466   or   9C2 × 7 215 15
32 32(1 ) ( )− ×  M1 3.1a 

soi eg by 9C2 seen 
 
 

   
P(two 2's in nine vales of X) × P(X = 2) 

or 0.094466 × 15
32  or 9C2 × 7 315 15

32 32(1 ) ( )− ×  M1 2.1 
soi 

NB  ( ) ( )7 317 15
32 32×  scores 0, unless multiplied by 9C2 

   0.0443  (3 sf) A1 1.1  
    [3]   

 


